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Comprehension:

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, C and D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Cities

Numbers of Registered cars

2017

2018 2019 2020

In the year 2020

Population of the Cities

(In Million)

7500

8000 9000 9500

0.8

1200

1350 1400 1500

0.2

6000

7500 8500 10000

0.6

5000

6000 6600 7400

0.75

SubQuestion No : 1

Q1

with respect to 2017 ?

(1) 284 :197

(2) 149 :154

(3) 142:79

(4) 53:41
Options 1. 1

2.2

3.3

4.4

Taking all the cities together, what is the ratio of total number of registered cars in the year 2020

Question Type

Option 2 ID

:McQ
Question ID :
Option 11D :

87827033153
878270130449

: 878270130450
Option 31D :
Option 4 ID :

Status :

Chosen Option :

878270130451
878270130452
Answered

1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/170254999951559...

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/1702549...

1/84



1/5/24, 9:23 AM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/1702549...

Comprehension:

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, C and D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Numbers of Registered cars In the year 2020
Cities Population of the Cities
2017 2018 2019 2020 (In Million)
A 7500 8000 9000 9500 0.8
B 1200 1350 1400 1500 0.2
C 6000 7500 8500 10000 0.6
D 5000 6000 6600 7400 0.75

SubQuestion No : 2

Q2 In the year 2020, per capita registered cars were maximum in the city :
M D
@ cC
G) B
4 A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033152
Option 1 ID : 878270130445
Option 2 ID : 878270130446
Option 3 ID : 878270130447
Option 4 ID : 878270130448
Status : Answered
Chosen Option : 2
Comprehension:
The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, C and D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.
Numbers of Registered cars In the year 2020
Cities Population of the Cities
2017 2018 2019 2020 (In Million)
A 7500 8000 9000 9500 0.8
B 1200 1350 1400 1500 0.2
C 6000 7500 8500 | 10000 0.6
D 5000 6000 6600 7400 0.75
SubQuestion No : 3
Q.3 Based on the average growth percentage (%) of registered cars per year (in successive years during
2017 - 2020) in the city A, what will be the estimated number of registered cars in city A in the year
?
(ZF)21 < 11225
(2) ~ 10815
3) ~ 10415
(4) ~ 10283
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033155
Option 1 ID : 878270130457
Option 2 ID : 878270130458
Option 3 ID : 878270130459
Option 4 ID : 878270130460
Status : Answered
Chosen Option : 4
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Comprehension:

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, C and D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Numbers of Registered cars In the year 2020
Cities Population of the Cities
2017 2018 2019 2020 (In Million)
A 7500 8000 9000 9500 0.8
B 1200 1350 1400 1500 0.2
C 6000 7500 8500 10000 0.6
D 5000 6000 6600 7400 0.75

SubQuestion No : 4

Q.4  Which city has shown maximum percentage growth (%) in registered cars from 2017 to 2020 ?
n A

2 B

(3 C

(4) D

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033151
Option 1 ID : 878270130441
Option 2 ID : 878270130442
Option 3 ID : 878270130443
Option 4 ID : 878270130444

Status : Answered
Chosen Option : 3

Comprehension:

The following Table shows the year-wise data of number of registered cars for four years from
2017 to 2020 in four cities (A, B, C and D). The last column shows the data of population of these
cities for the year 2020. Based on the data given in the table answer the questions that follow.

Numbers of Registered cars In the year 2020
Cities Population of the Cities
2017 | 2018 | 2019 | 2020 (In Million)
A 7500 8000 9000 9500 0.8
B 1200 1350 1400 1500 0.2
C 6000 7500 8500 10000 0.6
D 5000 6000 6600 7400 0.75

SubQuestion No : 5

Q5 What is the average of percentage growth (%) in registered cars across all the cities from the year
2017 to the year 2018 ?
(1) ~18%
2y ~16%
3) ~14%
4) ~12%
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033154
Option 1 ID : 878270130453
Option 2 ID : 878270130454
Option 3 ID : 878270130455
Option 4 ID : 878270130456

Status : Answered
Chosen Option : 2
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Q.6 \hich among the following is not a value as propounded by the Indian traditional concept of
Purushartha :
(1) Dharma
(2) Artha
(3) Bhakti
(4) Moksha
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033194
Option 11D : 878270130613
Option 2 ID : 878270130614
Option 3 ID : 878270130615
Option 4 ID : 878270130616
Status : Answered
Chosen Option : 2
Q.7 Two friends A and B live 140 km apart. They both drive in a straight line towards each other to
meet. [f A drives at 80 km/h and B drives at 40 km/hr, then how many kilometres apart will they
be exactly 45 minutes before they meet ?
(1) 70 km
(2) 90 km
(3) 100 km
(4) 80 km
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033174
Option 11D : 878270130533
Option 2 ID : 878270130534
Option 3 ID : 878270130535
Option 4 ID : 878270130536
Status : Answered
Chosen Option : 3
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as Which of the following computer memory types are volatile ?
(A) CMOS memory
(B) Cache memory
(C) Flash memory
(D) Hard disk
(E) RAM
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
(2) (A), (C) and (D) Only
() (), (C) and (E) Only
(4) (B) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033184
Option 11D : 878270130573
Option 2 ID : 878270130574
Option 3 ID : 878270130575
Option 4 ID : 878270130576
Status : Answered
Chosen Option : 1
Q.9

In a negatively skewed distribution, which among the following would be true ?
(A) Mean > Mode

(B) Mean < Median

(C) Median < Mode

(D) Mode > Mean

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (8 and (C) Only

(3) (8 and (D) Only

(4) (A)and (C) Only
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033164
Option 1 ID : 878270130493
Option 2 ID : 878270130494
Option 3 ID : 878270130495
Option 4 ID : 878270130496

Status : Answered

Chosen Option : 2
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Q.10

‘Which of the following is an example of collaborative learning ?

m
@
(3)
O

A teacher assigns individually a reading assignment and students take notes
A teacher gives lecture on a topic and students take notes individually
A teacher assigns homework for students to complete independently

A teacher assigns a group project and students work together to do research and present
their findings

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033159
Option 11D : 878270130473
Option 2 ID : 878270130474
Option 3 ID : 878270130475
Option 4 ID : 878270130476
Status : Answered
Chosen Option : 4
Q11 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).
Assertion (A) : Coral reefs are threatened because of release of sewage in ocean waters near
them.
Reason (R) : Release of sewage in oceans tends to reduce the clarity of ocean water.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct
(4)  (A) is not correct but (R) is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033189
Option 11D : 878270130593
Option 2 ID : 878270130594
Option 3 ID : 878270130595
Option 4 ID : 878270130596
Status : Answered
Chosen Option : 1
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Q12 Which of the following are not the characteristics of conventional learning ?
(A) Emphasis on self directed learning and independent study
(B) Students learn through listening and observation
(C) No fixed curriculum
(D) Leamner oriented
(E) Require regular attendance
Choose the correct answer from the options given below :
(1)  (B) and (E) Only
(2) (A)and (E) Only
() (A), (©) and (D) Only
(4)  (B) and (C) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033191
Option 1 ID : 878270130601
Option 2 ID : 878270130602
Option 3 ID : 878270130603
Option 4 ID : 878270130604
Status : Answered
Chosen Option : 3
Q13 \Which of the following are not the examples of a positive teacher - student relationship ?
(A) A teacher who punishes students for asking questions.
(B) A teacher who provides students with positive feedback and constructive criticism.
(C) A teacher who fosters open communication and mutual respect.
(D) A teacher who humiliates his/her students.
(E) A teacher who ignores the needs and concerns of his/her students.
Choose the correct answer from the options given below :
(1) (B) and (C) Only
() (A), (D) and (E) Only
(3)  (A), (B), (©) and (D) Only
(#)  (B) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033157
Option 1 ID : 878270130465
Option 2 ID : 878270130466
Option 3 ID : 878270130467
Option 4 ID : 878270130468
Status : Answered
Chosen Option : 2
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Q14 Which of the following are the orders of signification in communication ?
(A) Denotation
(B) Connotation
(C) Myth
(D) Credibility
(E) Attribution
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2 (B), (©) and (D) Only
() (O, (D) and (E) Only
(4) (A), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033168
Option 1 ID : 878270130509
Option 2 ID : 878270130510
Option 3 ID : 878270130511
Option 4 ID : 878270130512
Status : Answered
Chosen Option : 1
Q.15 In order to know if the argument is deductive or inductive, out of the four given tests which one
applies to the following example ?
“Alan is a father. Therefore, Alan is a male”.
(1)  The Indicator word test
(2) The Strict necessity test
(3) The Common paltern test
(4)  The Principle of charity test
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033177
Option 1 ID : 878270130545
Option 2 ID : 878270130546
Option 3 ID : 878270130547
Option 4 ID : 878270130548
Status : Answered
Chosen Option : 3
Q.16 Which of the following is a potential drawback of teacher centered instruction ?
(1) It can be more engaging and interactive for students.
(2) It can limit opportunities for students” creavity and critical thinking.
(3) It promotes students’ independence and self-direction.
(4) It is more efficient and saves time.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033160
Option 11D : 878270130477
Option 2 ID : 878270130478
Option 3 ID : 878270130479
Option 4 ID : 878270130480
Status : Answered
Chosen Option : 2
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Q17 Pick a correct observation from the following argument :

“All dogs are cats

All cats are whales

Therefore, all whales are dogs”

(1) It is valid argument and contains true premise and true conclusion
(2) Itis invalid argument and contains false premise and true conclusion
(3) Itis invalid argument and contains false premise and false conclusion
(4) Itis invalid argument and contains true premise and false conclusion

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033178
Option 1 ID : 878270130549
Option 2 ID : 878270130550
Option 3 ID : 878270130551
Option 4 ID : 878270130552

Status : Answered
Chosen Option : 4

Q.18 Arrange the following universities in the chronological order of their establishment.
(A) Banaras Hindu University

(B) Jawaharlal Nehru University

(C) University of Allahabad

(D) University of Delhi

Choose the correct answer from the options given below :
1O (©). (A, (D) (B)

(2 (A) (O, (D), (B)

(3 (&), D) (©), (B)

4 (A), (©), (B) (D)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033192
Option 1 ID : 878270130605
Option 2 ID : 878270130606
Option 3 ID : 878270130607
Option 4 ID : 878270130608

Status : Answered
Chosen Option : 1
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Q19 Match List - I with List - IL

List - I List - I
(Online Learning Platforms) (Respective Features)
(A) Swayam (I) Paid courses on creative and entrepreneurial topics
(B) Udemy (II) Free courses from Indian universities
(C) Skillshare (II) Video lectures and interactive exercises for k - 12
students
(D) Khan Academy (IV) Paid courses on various topics

Choose the correct answer from the options given below :
(1) (A)-), (By(I), (O)-(II), (D)-(IV)
@ A)-D, B)-IV), (O-0), (D))
@) (A)-(V), (B, (O)-(ID), (D)-(I)
) (A, (B)-(I), (O-(IV), (D)-(IT)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033158
Option 1 ID : 878270130469
Option 2 ID : 878270130470
Option 3 ID : 878270130471
Option 4 ID : 878270130472
Status : Answered
Chosen Option : 2
Q.20

Identify the correct sequence of the following technologies A-D used in first generation to fourth
generation of computers.

(A) Integrated circuits

(B) Microprocessors

(C) Transistors

(D) Vacuum Tubes

Choose the correct answer from the options given below :
O ©)© @), @A)

(@ D) (©) @A) B

(3 (©. (D), (A) B

@ (®). (") (© D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033182
Option 1 ID : 878270130565
Option 2 ID : 878270130566
Option 3 ID : 878270130567
Option 4 ID : 878270130568
Status : Answered
Chosen Option : 2
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Q.
“ Analogy roughly corresponds to :

(1) Anumiti
(2) Upamit
(3) Agama
(4) Pratyaksha

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033176
Option 1 ID : 878270130541
Option 2 ID : 878270130542
Option 3 ID : 878270130543
Option 4 ID : 878270130544

Status : Answered
Chosen Option : 2

Q.22 A researcher obtains the following p values for sample correlation coefficients of different samples.
Which of these can be considered significant at 5 % level of significance ?
(A) 05
(B) 0.04
(C) 0.95
(D) 0.002
(E}) 0.995
Choose the correct answer from the options given below :

(1) (A)and (E) Only
() (8 and (D) Only
@) () and (E) Only
@ (A (C) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033165
Option 1 ID : 878270130497
Option 2 ID : 878270130498
Option 3 ID : 878270130499
Option 4 ID : 878270130500

Status : Answered
Chosen Option : 1
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Q.23 Identify the correct sequence of steps involved in conducting a literature review for a research
study :
(A) Locate literature
(B) Organize the literature
(C) Identify key terms for search
(D) Write a literature review
(E) Critically evaluate and select the literature relevant to research
Choose the correct answer from the options given below :
M (A) B, ©). ®) O)
@ () (©). B ®), D)
@) (©. ®),® @) D)
@ (©.(®) (), ®), ©)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033161
Option 1 ID : 878270130481
Option 2 ID : 878270130482
Option 3 ID : 878270130483
Option 4 ID : 878270130484
Status : Answered
Chosen Option : 2
Q.24

The automation element of online media has enabled the generation of :
(1) Limited quantity of quality information

(2) User specific information

(3) Complex philosophical information

(4) Non-specific general information

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033167
Option 1 ID : 878270130505
Option 2 ID : 878270130506
Option 3 ID : 878270130507
Option 4 ID : 878270130508

Status : Answered

Chosen Option : 2
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Q25 Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A) :

Reason (R) :

In the less developed countries of the world indoor exposure to hazardous air
pollutants is much more severe.

Traditional methods of cooking aften involve fuels such as coal, wood, animal,
dung, kerosene etc.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033186
Option 1 ID : 878270130581
Option 2 ID : 878270130582
Option 3 ID : 878270130583
Option 4 ID : 878270130584
Status : Answered
Chosen Option : 1
Q.26 Addressing nation on independence day 2019, Prime Minister Sri Narendra Modi set a goal of tap
water to every rural house hold by the year :
(1) 2024
(2) 2025
(3) 2027
(4) 2030
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033187
Option 1 ID : 878270130585
Option 2 ID : 878270130586
Option 3 ID : 878270130587
Option 4 ID : 878270130588
Status : Answered
Chosen Option : 1
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Q.
" Match List - T with List - IL
List - I List - 1I
(Storage Media) (Type of storage)
(A) Hard Disk Drive (HDD) ()  Optical
(B) USB Flash Memory (I) Magnetic
(C) Bluray Disc (III) Solid state
Choose the correct answer from the options given below :
(1) (A)-(1D), (B)-(1LD), (CO)(L)
(2 (A1), (B -(D), (C)-(11)
() (A)-(m), (B)-(11), (O)-(I)
4)  (A)-(I), (B)-(II), (C)-(1I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033185
Option 1 ID : 878270130577
Option 2 ID : 878270130578
Option 3 ID : 878270130579
Option 4 ID : 878270130580
Status : Answered
Chosen Option : 3
Q.28 ) ) .
The term ‘analog media’ was originally derived from :
(1) Folk performances
(2) Satellite communication
(3) Internet
(4) Audio recordings
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033166
Option 1 ID : 878270130501
Option 2 ID : 878270130502
Option 3 ID : 878270130503
Option 4 ID : 878270130504
Status : Answered
Chosen Option : 4
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Q.29 ‘Which commission/committee recommended that ‘the ordinary amenities and decencies of life
should be provided for women in colleges ordinarily planned for men and that there should be no
curtailment of opportunities for women’ ?

(1) Durgabai Deshmukh Committee (1959)
(2)  Kothari Commission (1964 - 66)

(3) Bhaktavatsalam committee (1963)

(4) Radhakrishnan Commission (1948)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033195
Option 1 ID : 878270130617
Option 2 ID : 878270130618
Option 3 ID : 878270130619
Option 4 ID : 878270130620
Status : Answered
Chosen Option : 3

Q.30 Given below are two statements :
Statement 1 : A nuclear breeder reactor produces more fissile material than it consumes.

Statement Il :  Present share of nuclear energy in the energy mix of the country is more than
that of renewable energy.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Stat it I and Stat it 11 are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033188
Option 1 ID : 878270130589
Option 2 ID : 878270130590
Option 3 ID : 878270130591
Option 4 ID : 878270130592
Status : Answered
Chosen Option : 3
Q.31

In a certain coded language, '/RAM’ is coded as 32 and ‘SITA’ is coded as 49. How ‘SHYAM" will
be coded in that language ?

(1) 73
(2) 49
(3) 66
@ 32

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033175
Option 1 ID : 878270130537
Option 2 ID : 878270130538
Option 3 ID : 878270130539
Option 4 ID : 878270130540

Status : Answered

Chosen Option : 3
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Q.32 Anil has an MP3 file stored on his computer. Which type of data is stored in an MP3 file ?
(1) Video
(2) Sound
(3) Image
(4) Text
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033181
Option 1 ID : 878270130561
Option 2 ID : 878270130562
Option 3 ID : 878270130563
Option 4 ID : 878270130564
Status : Answered
Chosen Option : 2
Q.33 Given below are two statements :
Statement (I) : Arguments from analogy are generally deductive, weak or strong
Statement (II) : Arguments from analogy are generally inductive and neither valid nor invalid.
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033179
Option 11D : 878270130553
Option 2 ID : 878270130554
Option 3 ID : 878270130555
Option 4 ID : 878270130556
Status : Answered
Chosen Option : 3
Q34 Given below are two statements in the context of NEP 2020 ;
Statement (I) : It is envisaged that all higher education institutions shall aim to become
autonomous and have an empowered Board of Governors (BoG).
Statement (II) : Institutional Development plan shall be the sole responsibility of the members of
(BoG).
In the light of the above statements, choose the most appropriate answer from the options given
below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033193
Option 11D : 878270130609
Option 2 ID : 878270130610
Option 3 ID : 878270130611
Option 4 ID : 878270130612
Status : Answered
Chosen Option : 1

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/17025499995155...

16/84



1/5/24, 9:23 AM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/1702549...

@35 Convention on Biodiversity (CBD) was opened for signature during :
(1) Earth Summit
(2) Montreal Protocol
(3) Kyoto protocol
(4) Stockholm Convention
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033190
Option 1 ID : 878270130597
Option 2 ID : 878270130598
Option 3 ID : 878270130599
Option 4 ID : 878270130600
Status : Answered
Chosen Option : 3
Q.36 When the researcher’s age affects the behaviour of the participant in a study, it refers to :
(1) Sociological effect
(2) Biosocial effect
(3)  Psychological effect
(4)  Psychosocial effect
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033163
Option 11D : 878270130489
Option 2 ID : 878270130490
Option 3 ID : 878270130491
Option 4 ID : 878270130492
Status : Answered
Chosen Option : 3
Q.37 The systematic elimination of extraneous variables, other than those you are interested in, can be
done in which of the following types of research ?
(1)  Qualitative research
(2) Longitudinal research
(3)  Experimental research
(4) Correlational research
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033162
Option 1 ID : 878270130485
Option 2 ID : 878270130486
Option 3 ID : 878270130487
Option 4 ID : 878270130488
Status : Answered
Chosen Option : 4
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Q.38 The ratio of water and milk in a 27 litre mixture is 5 : 4. Find the quantity of water to be added to
the mixture in order to make the ratio of water and milk as 3 : 1.

(1) 12 litres
(2) 15litres
(3) 21 litres
(4) 36 litres
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033172
Option 1 ID : 878270130525
Option 2 ID : 878270130526
Option 3 ID : 878270130527
Option 4 ID : 878270130528
Status : Answered
Chosen Option : 2
Q.39 ; ; i i
What number would replace question mark (?) in the series given below ?
1,8, 6,10,15,21,:2. 36; ..z .
() 32
(2) 28
3 29
(4) 30
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033171
Option 1 ID : 878270130521
Option 2 ID : 878270130522
Option 3 ID : 878270130523
Option 4 ID : 878270130524
Status : Answered
Chosen Option : 2
Q.40 In the light of syllogistic argument which of the following is/are incorrect ?
(A) The predicate term of the conclusion is the major term.
(B) The subject term of the conclusion is the minor term.
(C) The middle term must occur only once in the premise.
(D) The middle term must be distributed at least once in the conclusion.
Choose the correct answer from the options given below :
(1) (B) Only
() (B) and (D) Only
() (©) Only
4) (C) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033180
Option 1 ID : 878270130557
Option 2 ID : 878270130558
Option 3 ID : 878270130559
Option 4 ID : 878270130560
Status : Answered
Chosen Option : 4
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Q41 nNfageh List - T with List - 1L

List - I List - IT
(Online Teaching Tools) (Advantages for Students)
(A) Learning Management System (LMS) (I)  Collaborating with peers, sharing ideas and
perspectives
(B) Video Conferencing (I) Receiving instant feedback on quizzes and
assessments, tracki_ng progress and
performance
(C) Discussion Forums (III) Accessing course materials and assignments
any time, any where
(D) Online Assessment Platforms (IV) Participating in live online class sessions and

discussions from remote locations also
Choose the correct answer from the options given below :

(1) (A, (B)-(V), (O)-(I), (D)-T)

(2 (A)(LV), (B)-(ILL), (C)-(1), (D)-(LT)

(3) (A, (B)-(IV), (C)-(D), (D)-(IT)

4 (A)(D), (B)-(II), (O)-(III). (D)-V)
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033156
Option 1 ID : 878270130461
Option 2 ID : 878270130462
Option 3 ID : 878270130463
Option 4 ID : 878270130464

Status : Answered

Chosen Option : 3

Q42 Given below are two statements :
Statement (I) : Not every medium has its own grammar.
Statement (II) : Each media grammar has evolved over a period of time and continues to change.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 1II is correct

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033170
Option 1 ID : 878270130517
Option 2 ID : 878270130518
Option 3 ID : 878270130519
Option 4 ID : 878270130520

Status : Answered

Chosen Option : 4
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Q.43 Given below are two statements :
Statement (I) : (1011101), = (5D),
Statement (II) : (C2),, = (11000010),

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement Il is correct
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033183
Option 1 ID : 878270130569
Option 2 ID : 878270130570
Option 3 ID : 878270130571
Option 4 ID : 878270130572

Status : Answered

Chosen Option : 1

Q.44 The difference between the compound interest and simple interest on a principal amount for 2
years at 10% per annum is ¥ 5431. Find the principal amount.
(1) T 54310
(2) T 108620
(3) T 453100
(4) ¥ 543100

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033173
Option 1 ID : 878270130529
Option 2 ID : 878270130530
Option 3 ID : 878270130531
Option 4 ID : 878270130532
Status : Answered
Chosen Option : 4
Q.45

In the context of communication, political socialisation is linked to social learning in terms of
how ?

(A) Power is attained.

(B)  Certain sections of society should be left out of the mainstream.
(C) Social systems are ignored.

(D) Power is used and misused.

(E) Political and economic decisions are made.

Choose the correct answer from the options given below :

() (A), (B) and (C) Only

) (B), (C) and (D) Only

(3)  (A), (D) and (E) Only

(4) (B), (D) and (E) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033169
Option 1 ID : 878270130513
Option 2 ID : 878270130514
Option 3 ID : 878270130515
Option 4 ID : 878270130516

Status : Answered

Chosen Option : 3
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Comprehension:

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism. It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the pmle tariat as the panacea to the crisis of capita]ism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’” subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races.

Another aspect that fascism had in common with feudal economics is its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation.

SubQuestion No : 46

Q.46 Given below are two statements :

Statement I : The communist solution to capitalism was the take over of the means of production
by the proletariat.

Statement II :  The fascist solution to capitalism was corporatism.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement 11 is correct

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033198
Option 1 ID : 878270130625
Option 2 ID : 878270130626
Option 3 ID : 878270130627
Option 4 ID : 878270130628

Status : Answered

Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism. It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the pmle tariat as the panacea to the crisis of capita]ism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’” subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races.

Another aspect that fascism had in common with feudal economics is its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation.

SubQuestion No : 47

Q.47 i
Fascism :
(A) Considered charging interest as immoral
(B) Valued agriculture and Industry
(C) Rejected hierarchies of feudalism
(D) Believed in corporatism
Choose the correct answer from the options given below :
(1) (A) and (D) Only
(2) (A), (B) and (C) Only
(3) (A), (©) and (D) Only
(4) (A), (B) and (D) Only
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827033201
878270130637
878270130638
878270130639
878270130640
Answered

3
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Comprehension:

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism. It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the pmle tariat as the panacea to the crisis of capita]ism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’” subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races.

Another aspect that fascism had in common with feudal economics is its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation.

SubQuestion No : 48

Q48 pascist economics agreed with communists on the following :

(A) Capitalists are sensitive to the poor working conditions of the labour force.
(B) Capitalists promote speculation.
(C) Capitalists prioritize profits over collective goals.
(D) Capitalists indulge in financial wizardly.
Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only
(2 (8 and (C) Only
(3) (8. () and (D) Only
(4) (A), (B) and (C) Only

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033197
Option 1 ID : 878270130621
Option 2 ID : 878270130622
Option 3 ID : 878270130623
Option 4 ID : 878270130624

Status : Answered

Chosen Option : 1
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Comprehension:

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism. It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the pmle tariat as the panacea to the crisis of capita]ism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’” subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races.

Another aspect that fascism had in common with feudal economics is its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation.

SubQuestion No : 49

Q.49
Classless egalitarianism policy was followed by :
(1) Feudalism
(2) Capitalism
(3) Communism
(4) Fascism
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827033199
878270130629
878270130630
878270130631
878270130632
Answered

1
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Comprehension:

Read the following passage and answer the questions that follow :

Fascist economics places itself in between free market capitalism and communism. It criticizes the
former for prioritizing profits over collective goals, for promoting speculation, financial wizardry
that is similar to usury. It agreed to some degree with communists that the capitalist class exploited
the labour force and was insensitive to poor working conditions but disagreed on the solution.
While communists prescribed a proletariat takeover of the means of production followed by a
dictatorship of the proletariat as the panacea to the crisis of capitalism, fascism would choose
instead to resolve class conflicts between labour and capital through state arbitration and corporate
control over the economy. Corporatism is the theory and practice of organizing society into
‘corporations’” subordinate to the state. These corporations would serve as organs of political
consultations and take responsibility, to a large extent, for persons and activities within their
jurisdiction. It differed from communism since it rejected classless egalitarianism. It can be described
as a modern analogue of feudal guild societies. Thus, corporatism served to retain the social order
and hierarchies of feudalism while infusing it with modern industrial methods more conducive for
military competition and arms races.

Another aspect that fascism had in common with feudal economics is its emphasis on usury
laws. Both considered charging interest on loans as being exploitative and immoral. This reinforced
a certain worldview which saw tangible sectors such as agriculture and industry as value creating
and finance as a sector that rested on tricks and manipulation.

SubQuestion No : 50

Q.50
Fascist economics is based on :
(1) Communism
(2) Capitalism
(3) A mix of communism and capitalism
(4) Feudalism
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

McQ
87827033200
878270130633
878270130634
878270130635
878270130636
Answered

3
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Q.51
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(B).s(D) (1
(C).s(B) (2)
(A).(B) 3)
(D) .i(C) 4)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033262
Option 1 ID : 878270130881
Option 2 ID : 878270130882
Option 3 ID : 878270130883
Option 4 ID : 878270130884

Status : Answered

Chosen Option : 3
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Q.52
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B @
(B) (A (3)
(D) +1(C) 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033258
Option 1 ID : 878270130865
Option 2 ID : 878270130866
Option 3 ID : 878270130867
Option 4 ID : 878270130868
Status : Answered
Chosen Option : 3
Q.53 = 3
'i's‘:.,mf'f.ib*“r’w@:f"m“dhﬂ’fﬂud: et Sas
& rifs (2)
Szld (3)
Jbgey (@
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033216
Option 1 ID : 878270130697
Option 2 ID : 878270130698
Option 3 ID : 878270130699
Option 4 ID : 878270130700

Status : Answered

Chosen Option : 3
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Q.54
e JEUe AU L U
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AL (D
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i 3)
i< L
JL’JJI_;J Ly (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033228
Option 1 ID : 878270130745
Option 2 ID : 878270130746
Option 3 ID : 878270130747
Option 4 ID : 878270130748
Status : Answered
Chosen Option : 3
Q.55
T i ay & -
At T
1 ( 1)
ok (2)
ko 3
& @
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033219
Option 1 ID : 878270130709
Option 2 ID : 878270130710
Option 3 ID : 878270130711
Option 4 ID : 878270130712

Status : Answered

Chosen Option : 3
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Q.56 - 3
S 2k JF LIS e L (G e
GnfE1947 0. (D
..;‘:..,.‘F.vr dj}_{r ‘g/p Vet (2)
e dgnady.  (3)
_sf._gbfvf )’1:;.‘:)4(‘:3 JJL‘:, (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033211
Option 1 ID : 878270130677
Option 2 ID : 878270130678
Option 3 ID : 878270130679
Option 4 ID : 878270130680
Status : Answered
Chosen Option : 1
Q.57
:éﬁi@Ju.!/} g-w::ulb{?éﬂg,ﬁuwdi
s ALY I e (W)
—‘Ebi!éb/u[ué:&ﬂffﬁ_él“fﬁ,?;” (B)
..t‘:.f b/, {_/; (-;.i'f:ﬁ,ju A S Lf"ﬁﬁ!{._ -QE/L}J” (&)
LI (G R el S J-’p S i Ld=spspr (D)
(B) »(A) (n
C) (A (2
(D) .s(C) 3)
(D) (A (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033257
Option 11D : 878270130861
Option 2 ID : 878270130862
Option 3 ID : 878270130863
Option 4 ID : 878270130864
Status : Answered
Chosen Option : 2
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Q.58 -
e e b e . i
' SIS L B L i
SF
5 (2)
J;'L,‘s ik (3)
d") 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033230
Option 1 ID : 878270130753
Option 2 ID : 878270130754
Option 3 ID : 878270130755
Option 4 ID : 878270130756
Status : Answered
Chosen Option : 3
Q.59 ;f&:leLu,-"&&é_u;_f.ﬁ.-g‘_lgtn;vgLgiﬂr;»a)Jufm.uﬂgf_gmf"&ﬂfu;ﬂrf_&kéur,?ﬂ.:fﬁi“
“_ur:"*lgz_/c,’;d,—t
e bl U,
£ )
gl ()
whdd @)
Wi (4
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033218
Option 1 ID : 878270130705
Option 2 ID : 878270130706
Option 3 ID : 878270130707
Option 4 ID : 878270130708

Status : Answered

Chosen Option : 3
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Q.60 :é@}ﬁJQJJRgLJP\J:Jffa)’l'u}n)’l‘
List I List I
(A) =6u# o vz
® e a §
© szt an F gt
(D) Gxailx AV) Sogieds
Choose the correct answer from the options given below :
[@)] (A)-(IV), (B)-(D), (C)-C 11D, (D)-C 1D
Q@) (A)-( 1D, (B)-( 11D, (C)-(D), (D)-(1V)
3 (A, (B)-UD, (O)-ALD, (D) IV)
[€)] (A)-(IV), (B)IID), (C)(D), (D)-D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033270
Option 11D : 878270130913
Option 2 ID : 878270130914
Option 3 ID : 878270130915
Option 4 ID : 878270130916
Status : Answered
Chosen Option : 4
Q.61
- 3 - &
k:ﬁ;ﬂ-fudim;fgﬁﬁf{:
& -
S (D
Sl (2)
drers )
AT (@)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033227
Option 11D : 878270130741
Option 2 ID : 878270130742
Option 3 ID : 878270130743
Option 4 ID : 878270130744
Status : Answered
Chosen Option : 3
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Q.62
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eI MY (A)
_scz..-i.:'““TJJ.-:'f‘.ylg.:f"J.:’ (B)
_?J,::‘j.(;db‘dﬁ’:{?, ()
..;E...E-,é"'.d, J*j ‘rif-: 12300l P 2 (D)
(B)si(A) @]
(C) »(B) (2)
(D).a(C) (3)
(D) .s(B) (4)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033254
Option 1 ID : 878270130849
Option 2 ID : 878270130850
Option 3 ID : 878270130851
Option 4 ID : 878270130852

Status : Answered

Chosen Option : 3
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Q.63
: ’cf.-f{ﬁ.ﬁL‘I'fJuJ/J g_hifuulp{,?gg/}ubtdj
i “Jf,ag:.:fl_,?’;yfdfj E’dlf?wﬁ (A)
ce A SRS L AU (B)
...:“_,“E;u.!:t&-?”[‘tifﬁ..:f 5] /"5 Z ST //.g (@]
<SP A AL (D)
(Chs(A) (D
(O@(B) ()
(B).si(A) (3)
(D) .4(C) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033253
Option 1 ID : 878270130845
Option 2 ID : 878270130846
Option 3 ID : 878270130847
Option 4 ID : 878270130848
Status : Answered
Chosen Option : 3
Q.64 i .
LI JV/‘/:J»}J/’W’.JQ
JJL;:L_Jl:;Lfrf (1)
Vol o )
o e E e (3D
0 .L’:d‘ - 4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033226
Option 11D : 878270130737
Option 2 ID : 878270130738
Option 3 ID : 878270130739
Option 4 ID : 878270130740
Status : Answered

Chosen Option :

1
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Q.65 g =
?Qrﬁd{iaf(jajgv!aéﬁﬁn}ﬂ
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033225
Option 1 ID : 878270130733
Option 2 ID : 878270130734
Option 3 ID : 878270130735
Option 4 ID : 878270130736
Status : Answered
Chosen Option : 3
Q.66
?wjff.;/i_.:fc:..,&)r;_f':ifJu/!(Jd_.;&f'g/aﬁ‘ﬁ»uduﬂf .,.LJ/_QA_.:L'EJUJ
Jogt” Satd (D)
- |
A . )
. a8
WE 3
S @
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033232
Option 1 ID : 878270130761
Option 2 ID : 878270130762
Option 3 ID : 878270130763
Option 4 ID : 878270130764

Status : Answered

Chosen Option : 3
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Q.67
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033238
Option 1 ID : 878270130785
Option 2 ID : 878270130786
Option 3 ID : 878270130787
Option 4 ID : 878270130788
Status : Answered
Chosen Option : 4
Q.68 el orluads
At A
drén ) (B)
JJ'irlj-—-—L'fLiJ‘UFJ)'E = )
Qb Ao Sawls (D)
Choose the correct answer from the options given below :
(D] A,B,C,D,
@ C,B,A,D,
3 B,C,D A,
(€)) D, A B,C,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033286
Option 1 ID : 878270130977
Option 2 ID : 878270130978
Option 3 ID : 878270130979
Option 4 ID : 878270130980
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Marked For Review
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Q.69
:éﬁ.ﬁ@g{u:/} g_hiﬁuuf;ﬂg;/}u;ﬂdi
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P dJzu”  (B)
e LA T (©
...s:..[‘y Jﬁut‘:u@“a}@‘;x” (D)
(C)(B) (D
(B).si(A) (2)
(D).s(C) (3)
(D) .s(B) (4)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033251
Option 11D : 878270130837
Option 2 ID : 878270130838
Option 3 ID : 878270130839
Option 4 ID : 878270130840
Status : Marked For Review
Chosen Option : 1
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Choose the correct answer from the options given below :
n (A)-(IID), (B)-(1V), (C)«(D), (D)-(11)
2 (A)-(ID), (B)-(I1D), (C)-(1V), (D)-(D)
3 (A)-(IV), (B)-ID), (C)-(D, (D)-(111)
) (A)-(D, (B)-(ID, (C)-(1ID, (D)(IV)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033272
Option 1 ID : 878270130921
Option 2 ID : 878270130922
Option 3 ID : 878270130923
Option 4 ID : 878270130924
Status : Answered
Chosen Option : 1
Q71 o
A ST s FUA
&
Uit (D
uﬁ Lila (2}
g.j\_ffjjl (3)
A
o @
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033204
Option 11D : 878270130649
Option 2 ID : 878270130650
Option 3 ID : 878270130651
Option 4 ID : 878270130652
Status : Marked For Review
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Q.72
:gdut‘iJ.,.ffj?gﬂ'ﬁ&z:;ﬂ‘:(u;u_u_?:{’cr);‘.‘yugﬂd5
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el I (3)
-;5_55 || S (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033287
Option 11D : 878270130981
Option 2 ID : 878270130982
Option 3 ID : 878270130983
Option 4 ID : 878270130984
Status : Marked For Review
Chosen Option : 4
Q.73 i 4 . .
O 4200 CEL B b8 128 ol e
32 3T (1)
W (2)
! B
oL 4
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033241
Option 1 ID : 878270130797
Option 2 ID : 878270130798
Option 3 ID : 878270130799
Option 4 ID : 878270130800

Status : Answered

Chosen Option : 4
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Q.74 .
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033237
Option 1 ID : 878270130781
Option 2 ID : 878270130782
Option 3 ID : 878270130783
Option 4 ID : 878270130784
Status : Answered
Chosen Option : 3
Q.75 i %
LSS 7T et b
d L.;f;{;r;:_._g Etur S
S Lt AU
- b 7
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033229
Option 1 ID : 878270130749
Option 2 ID : 878270130750
Option 3 ID : 878270130751
Option 4 ID : 878270130752
Status : Marked For Review
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Q.76
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ri.u»ut__t—.;u}l‘;-h::bf - rlgﬁgf UFRE I By (A)
ST atelr (S EGLLLr (B
(has2s Gllspigs g - 5I.gk'u:J»))/£/_/f,¢ ((®)]
rf;d’fdd’fé,_j‘-‘_k, - ft;w:tj»/g;,f/ﬁ (D)
(B)si(A) (@)]
(D).s1(B) (@]
O©sB) )
(D)) @)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033259
Option 11D : 878270130869
Option 2 ID : 878270130870
Option 3 ID : 878270130871
Option 4 ID : 878270130872
Status : Marked For Review
Chosen Option : 3
Q.77 ‘ R % s A (
St U A T L8 Jb i;j-w:‘:
g (D
Sugied Q)
A8 ()
cJE @)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033208
Option 1 ID : 878270130665
Option 2 ID : 878270130666
Option 3 ID : 878270130667
Option 4 ID : 878270130668
Status : Answered
Chosen Option : 2
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033212
Option 1 ID : 878270130681
Option 2 ID : 878270130682
Option 3 ID : 878270130683
Option 4 ID : 878270130684
Status : Marked For Review
Chosen Option : 1
Q.79
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033213
Option 1 ID : 878270130685
Option 2 ID : 878270130686
Option 3 ID : 878270130687
Option 4 ID : 878270130688
Status : Marked For Review
Chosen Option : 3
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Choose the correct answer from the options given below :
[€V) A,B,C. D,
2) B,C, A, D,
3) D,A,C B,
@ B,A,D,C.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033284
Option 1 ID : 878270130969
Option 2 ID : 878270130970
Option 3 ID : 878270130971
Option 4 ID : 878270130972
Status : Marked For Review
Chosen Option : 1
Q.81
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033290
Option 1 ID : 878270130993
Option 2 ID : 878270130994
Option 3 ID : 878270130995
Option 4 ID : 878270130996
Status : Marked For Review
Chosen Option : 4
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033222
Option 1 ID : 878270130721
Option 2 ID : 878270130722
Option 3 ID : 878270130723
Option 4 ID : 878270130724
Status : Answered
Chosen Option : 1
Q.83
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(C) »s(A) (2)
(D) .s(B) 3)
(D).s(A) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033242
Option 1 ID : 878270130801
Option 2 ID : 878270130802
Option 3 ID : 878270130803
Option 4 ID : 878270130804
Status : Answered
Chosen Option : 2
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033291
Option 11D : 878270130997
Option 2 ID : 878270130998
Option 3 ID : 878270130999
Option 4 ID : 878270131000
Status : Answered
Chosen Option : 4
Q.85
: Ef.g—LEJWJUJ/} é"&_hifuuf;,{jgg/}ugﬂﬁi
Lsig /T8 2 (A)
e t# 21812086 (B)
~e i FLLigeuriet Sl e (O
L b iy (D)
(C)»(B) (D
(D)) (2)
(D).s(A) (3)
(Cr(A) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033248
Option 1 ID : 878270130825
Option 2 ID : 878270130826
Option 3 ID : 878270130827
Option 4 ID : 878270130828
Status : Answered
Chosen Option : 4
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Q.86
: Ef.g—LﬁﬁWJUJ/} g_hiﬁuuf;ﬂg;/}u;ﬂdi
_%JJL'E’(EA‘&G&‘L?JJ (A)
b s (B)
e 2iddnatudio? (O
ce b e YA (D)
(B) »(A) (D
) (B @)
(C) La(A) (3)
(D) 45O 4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033255
Option 11D : 878270130853
Option 2 ID : 878270130854
Option 3 ID : 878270130855
Option 4 ID : 878270130856
Status : Answered
Chosen Option : 4
Q87 .
gf’ ey ¥ e HL; - s
¢ W F S oun S L o
Vs A 82 287 A
FFr w
S6e (3
gfud’.cg )
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033234
Option 1 ID : 878270130769
Option 2 ID : 878270130770
Option 3 ID : 878270130771
Option 4 ID : 878270130772
Status : Marked For Review
Chosen Option : 3
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Q88 BTN SOA BN
SV

U0 (B)

P (@)

,CL‘.;A_..;;JW: (D)

Choose the correct answer from the options given below :

€8] D,C,B, A,
@ C,D, A, B,
3 B,C,D, A,
(€] A, B,C.D,

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033280
Option 1 ID : 878270130953
Option 2 ID : 878270130954
Option 3 ID : 878270130955
Option 4 ID : 878270130956
Status : Marked For Review
Chosen Option : 1
Q.89

Ll rt = 185780212431
dos (D)

A Q)

I Q)

Gl (D)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033239
Option 1 ID : 878270130789
Option 2 ID : 878270130790
Option 3 ID : 878270130791
Option 4 ID : 878270130792
Status : Marked For Review
Chosen Option : 2
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Q.90
:g&jlﬁ"g;ujf J'g ...Lii»ulu,?éd;./}u&ﬂ# L}‘trLuur
..sj..,:,lf'ﬂc..dj; Lﬁﬁ(ﬁjﬁd.‘;ﬁ (A)
¥ & - & .
L Fff PR u"-(l’u;-”uf[f g éLJ}‘ (B)
~ bz il ﬁw,ﬁluﬁﬁjuﬁgfﬁ’fﬁ' (C)
- 5 - - =
_L}f.:.uﬂd/J;?/;ﬁulJLﬂdUﬂpdr_.fﬁ’ (D)
(A) (C) (D)
(B) »(C) 2)
(D) .s(A) (3)
(A) .s(B) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033264
Option 11D : 878270130889
Option 2 ID : 878270130890
Option 3 ID : 878270130891
Option 4 ID : 878270130892
Status : Answered
Chosen Option : 4
Q.91 :é&;ﬁid/wﬂ:éa PP S g
List I List I
(A) 12T o e
B s D sra
©  fous A v
(D) B (V) sTpnsics
Choose the correct answer from the options given below :
[€)] (A)-(D, (B)-(LID), (C)«(IV), (D)-(11)
@) (A1), (B)-(ID), (C)-(1V), (D)D)
3 (A)-(ID, (B)-(ID, (C)-(D, (D)1V)
[€))] (A)-(IV), (B)-(D), (C)-(I1D), (D)-(11)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033274
Option 1 ID : 878270130929
Option 2 ID : 878270130930
Option 3 ID : 878270130931
Option 4 ID : 878270130932
Status : Answered
Chosen Option : 2
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EEY i ;fy'l{ (2)
N N )
&
wiid ey (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033235
Option 1 ID : 878270130773
Option 2 ID : 878270130774
Option 3 ID : 878270130775
Option 4 ID : 878270130776
Status : Answered
Chosen Option : 1
Q.93 ; b e
?wgg@frfdr?yﬁgaﬁidhd_,.vzdﬂ‘{ffi...__fwfﬁxudfuffyug
23l D
&
b 2)
I )
=LA 4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033236
Option 1 ID : 878270130777
Option 2 ID : 878270130778
Option 3 ID : 878270130779
Option 4 ID : 878270130780
Status : Answered
Chosen Option : 3
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Q.94 :ég’:';ﬁ,cc‘iJu::zE‘u:f’u&ﬁ}'uwmrubu
List I List I
(A) sy ()] J))L,'GJ‘/‘J"‘
® & an i
Yy P an i,
() I el AV) Gtz
Choose the correct answer from the options given below :
[@)] (A)-( D, (B)-( LD, (O)-C ID, (D)-(IV)
Q@) (A)-(ID), (B)-( 11D, (CO)-(AV), (D)D)
3 (A)-(ID, (BX-(D, (C)-C 1V, (D11
[€)] (A)-(ID, (B)-( 11D, (O)-(D), (D)-(1V)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033268
Option 1 ID : 878270130905
Option 2 ID : 878270130906
Option 3 ID : 878270130907
Option 4 ID : 878270130908
Status : Answered
Chosen Option : 3
Q.95 i
‘.'u.:"'.iit.ﬁ_.)’l{.:,iggdfﬁnﬁufd:d}éin.i(f.hj(&W;ﬁj}jo_r_‘,ailcjflﬁ
-OA I3
Jlaatlz (D)
df)i‘,g- 2)
Sl aids (3)
d}jc):; o 4)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033203
Option 1 ID : 878270130645
Option 2 ID : 878270130646
Option 3 ID : 878270130647
Option 4 ID : 878270130648
Status : Marked For Review
Chosen Option : 3
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Q.96
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UJF-J_"JJJJI.:.»{?L}L;L{;_/QL?-? (A)
J:_!..-L}Lblv-ﬁvt'..j :‘:..f S guines (B)
oy /; ;:...F_&r; FJ.:L‘ﬂ's:_.J )
JJ..LQE-JF;&'J);‘}; .__-JL!.:‘:..L.; (D)
(D) s(A) (1)
(B).s(A) (2)
(D)5 C) 3)
(C) s(B) (4)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033244
Option 1 ID : 878270130809
Option 2 ID : 878270130810
Option 3 ID : 878270130811
Option 4 ID : 878270130812
Status : Marked For Review
Chosen Option : 1
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Q9 s adural e ML BSH s
List1 List II
A Fie o &
® FH am g
© Fst am g4
D) fit o avy sy

Choose the correct answer from the options given below :

1 (A-D, B)-(IV), (OID, (D)-( 1D
(2)  (A)-IID, (B)-(ID, (C)-(D), (D)-( IV
3 (A-(IV), (B)-( 1D, (O)-(D, (D)-C 11
@ (A-(1V), (B)-UID, (O)-( 1D, (D)D)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033267
Option 11D : 878270130901
Option 2 ID : 878270130902
Option 3 ID : 878270130903
Option 4 ID : 878270130904
Status : Answered
Chosen Option : 3
Q.98 :é@;t‘—i({w:ﬁg
List I List I
(A) il (D ey PO
(B) # D ey A
© = (411 R ()
O izt AV) e=rggey”

Choose the correct answer from the options given below :

(D (AXUD, (B)D, (O)-(IV), (D)D)

@  (AXD, B)-(UD, (CO)-U1ID), (D) IV)

(3)  (A)-aV), (B)ID), (C)-(D), (D)-(ID)

4 (A)-UID, (B)-(IV), (C)D), (D)-(ID)
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827033271
Option 11D : 878270130917
Option 2 ID : 878270130918
Option 3 ID : 878270130919
Option 4 ID : 878270130920
Status : Answered
Chosen Option : 4
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Q.99
: Ef.g—LﬁﬁWJUJ/} g_hiﬁuuf;ﬂg;/}u;ﬂdi
- T =
.ur/"r_ﬁhﬁguiniw;b&‘d/ﬂ (A)
e T T e w4
G B
b o &
Y9000 ALl ST g,rf“ ©
(D) (O (1)
(D) »(B) (2)
(D) A (3)
(B) .(A) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033256
Option 1 ID : 878270130857
Option 2 ID : 878270130858
Option 3 ID : 878270130859
Option 4 ID : 878270130860
Status : Answered
Chosen Option : 4
Q.100 -’:_é;’tj‘}b‘i(fuﬁ.?.éggﬁdéug;ﬁ.ufrt’ilfﬁi’riw
ListI List 11
W Sk E m o
(B) GSJJ[._S;E?‘ an .7
© bl I ool
D) bd e av) e
Choose the correct answer from the options given below :
() (A-UD, (B)C LD, (O, (D)-( IV)
@ (A, (B)-(IID, (C)-(1V), (D)-(ID
3)  (A-(ID, (B)-D), (C)-AV), (11D
@ (A-UID, (B)-D, (C-(D, (D)-(1V)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033269
Option 11D : 878270130909
Option 2 ID : 878270130910
Option 3 ID : 878270130911
Option 4 ID : 878270130912
Status : Answered
Chosen Option : 3
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Q.101
b . &
?Q)T}ILL.UFJGEJJ}UM’{U
S (D
yesd Azl (2)
Gz (3
ol @)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033210
Option 1 ID : 878270130673
Option 2 ID : 878270130674
Option 3 ID : 878270130675
Option 4 ID : 878270130676
Status : Answered
Chosen Option : 1
Q.102 £ &5
-afgu-.cl:‘)J.,_;/“é‘ St il oo il i
sdE (A
FH ®
Pt (O
iy (D)
Choose the correct answer from the options given below :
[a5) A,C, D,B,
2) B,C, A, D,
3 D, A C, B,
@ C,A,B,D,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033282
Option 1 ID : 878270130961
Option 2 ID : 878270130962
Option 3 ID : 878270130963
Option 4 ID : 878270130964
Status : Answered
Chosen Option : 4
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Q.103 i
-a_"{lj-.cl:‘)J.,_;}'é‘ AL
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! (B
gl (O)
W7 (D)
Choose the correct answer from the options given below :
[a5) B,C,A,D,
@ D, A C,B,
3 C.A,B. D,
@ D,B,A,C,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033281
Option 1 ID : 878270130957
Option 2 ID : 878270130958
Option 3 ID : 878270130959
Option 4 ID : 878270130960
Status : Answered
Chosen Option : 3
Q.104
??—a.?ﬂ(jfif;:’l:hif,f-bﬁd KJF”
Sl Jvd f (1)
Py a4l 2)
sy dds Q)
*
OfFé (4)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033220
Option 1 ID : 878270130713
Option 2 ID : 878270130714
Option 3 ID : 878270130715
Option 4 ID : 878270130716
Status : Answered
Chosen Option : 1
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Q)
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033221
Option 1 ID : 878270130717
Option 2 ID : 878270130718
Option 3 ID : 878270130719
Option 4 ID : 878270130720
Status : Answered
Chosen Option : 1
Q.106

. é{,ﬁi.ﬂﬁ-’(;uj/}g_hfump{,?g;/}ugﬂij

R AP 5
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-;‘:_hi.;?ﬂ"'d’ S 1 G AT S st s”

D

(B) »(A)
(C)(B)
(C).a(D)
(B).s(D)
Options 1. 1
2.2
3.3
4.4
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Question Type :
Question ID :

Option 1 ID

Option 4 ID

Mca
87827033246

: 878270130817
Option 21D :
Option 31D :

878270130818
878270130819

: 878270130820
Status :
Chosen Option :

Answered
1
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S e Pracl
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el (B)
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Choose the correct answer from the options given below :
(@) D, A,C, B,
(2> A,D,C,B,
3) B,C, A, D,
4 C,D,A,B,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033279
Option 1 ID : 878270130949
Option 2 ID : 878270130950
Option 3 ID : 878270130951
Option 4 ID : 878270130952
Status : Answered
Chosen Option : 2
Q.108 " o 5 "
?WL’(&_J(.-EJ"UC:L;HUC fﬁif‘)f '&L—-’UJ?L#/;’L@U
w’f', s (1
sty @
YN G))
S v (4)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033202
Option 1 ID : 878270130641
Option 2 ID : 878270130642
Option 3 ID : 878270130643
Option 4 ID : 878270130644

Status : Answered

Chosen Option : 3
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Q.109
: Z:f.g—Lji.iWJUJ/} g_hiﬁuuf;ﬂg;/}u;ﬂdi
—aE oV S Zuda2m (A)
-JFFJE&J&QU&@L?.&ZF:/ (B)
_LL':.QFV sl Bad] Z/r},,jf JJIJULJF /a“"))"g (C)
_JJUJLJJIJ@GHF.;F (D)
(A).»(B) (1)
(A)si(C)  (2)
(C©a(D)  (3)
(D) »1(B) 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033263
Option 1 ID : 878270130885
Option 2 ID : 878270130886
Option 3 ID : 878270130887
Option 4 ID : 878270130888
Status : Answered
Chosen Option : 1
Q.10 "
S U K8 a1k s A S I U 5000
rm.:.l: (1)
F Q@
ISR C))
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033214
Option 1 ID : 878270130689
Option 2 ID : 878270130690
Option 3 ID : 878270130691
Option 4 ID : 878270130692
Status : Answered
Chosen Option : 4
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111 8
Q LI e W Pracle
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iy (B)
e (C)
Gz (D)
Choose the correct answer from the options given below :
n B,A,C,D,
(2)  C.A,B,D,
3) D,B,C A,
4 ABCD,
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033277
Option 11D : 878270130941
Option 2 ID : 878270130942
Option 3 ID : 878270130943
Option 4 ID : 878270130944
Status : Answered
Chosen Option : 2
a2 G iRl a AL et T
ListI List I1
(A) =6 [4}] JJ/J’UT
(B) S D o pe
© i (D) g St
() PR - av) $abn
Choose the correct answer from the options given below :
(1) (A)-IID, (B)-(IV), (C)(ID), (D)D)
) (A-D, (BX-(D, (O)-a'V), (D)-(1D)
(3 (A-aV), B)-ID, (O, (DD
@) (A, (B)-UD, (C)-AID, (D)-(IV)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033273
Option 1 ID : 878270130925
Option 2 ID : 878270130926
Option 3 ID : 878270130927
Option 4 ID : 878270130928
Status : Answered
Chosen Option : 3
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033289
Option 11D : 878270130989
Option 2 ID : 878270130990
Option 3 ID : 878270130991
Option 4 ID : 878270130992
Status : Answered
Chosen Option : 3
Q.114 — 5
e G am 22 5 0 e
U (D
A @
S20k=2T  (3)
Ly @
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033233
Option 11D : 878270130765
Option 2 ID : 878270130766
Option 3 ID : 878270130767
Option 4 ID : 878270130768
Status : Answered
Chosen Option : 4
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Q.115

;E_L"Tu'.:‘; ' H k)7 St

€nCsSb 7 ove (S

T w5 f U AU

ol (1)

Sk 2)

N €))

JAEE @)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033240
Option 1 ID : 878270130793
Option 2 ID : 878270130794
Option 3 ID : 878270130795
Option 4 ID : 878270130796

Status : Answered

Chosen Option : 3
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Q.116

:Z:f..-{{ji.il.‘ﬁ(ju:/} g_hiﬁuuf;ﬂg;/}u;ﬂdi
Bk S (A)
EH ook (B
_u?g;?:&imru} PN R Py IO (@)
W 21918J@ e 08 (D)
(B) »(A) (1)
(©) (A  (2)
(D) MO (3)
(D) .s(B) 4)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033261
Option 1 ID : 878270130877
Option 2 ID : 878270130878
Option 3 ID : 878270130879
Option 4 ID : 878270130880
Status : Answered
Chosen Option : 1
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Q117 5
-éﬁi@&;}iéj ....!;ii.!_wfu?g;;*)»;;@*iﬁ.:‘fdﬁiwfulfii
i - HKak @)
il - g pE (B)
Heuf 3 P (&)
U 2 #upey (D)
(B)s(A) (D
(C)(B) (2)
(D).(C) (3)
(D).s(A) 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033260
Option 1 ID : 878270130873
Option 2 ID : 878270130874
Option 3 ID : 878270130875
Option 4 ID : 878270130876
Status : Answered
Chosen Option : 1
Q.118 o o y :
?“_ﬂ;.,.fgf?ﬂui.bﬁd;uﬂ“fuf WL SIS rES 2
A
J.!j )
R
sy (D)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033205
Option 1 ID : 878270130653
Option 2 ID : 878270130654
Option 3 ID : 878270130655
Option 4 ID : 878270130656

Status : Answered

Chosen Option : 1
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Q.19 .
-é@ﬁﬁitfv:’?é‘;:?ui; Bl

T (A)

ok (B)

egbas-r (C)

252 (D)

Choose the correct answer from the options given below :

(1 A,CB,D,
()  C,B,D, A,
(3 D, B, C, A,
(4 A,B,CD,

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033278
Option 1 ID : 878270130945
Option 2 ID : 878270130946
Option 3 ID : 878270130947
Option 4 ID : 878270130948
Status : Answered
Chosen Option : 3
Q120 :é&;ﬁigfwméaz_;w&_ﬁ;ﬂm?ﬁ
List I List I
(A gLtz D LTz
(B) S an g4
(©) BIpkE e am 4 7F
M g fe aAv) dsbefh”

Choose the correct answer from the options given below :

1 (A, (B)-(UD, (O-UID, (D)IV)
@  (A-av), B-UID, (O-ID, (D)-D
(3  (A)-UID, (B)D, (C)-(D, (D)-(IV)
4 (A-UD, (B)IV), (C)-(D), (D)-(I1)

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033275
Option 1 ID : 878270130933
Option 2 ID : 878270130934
Option 3 ID : 878270130935
Option 4 ID : 878270130936
Status : Answered
Chosen Option : 4
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Q.121 i
e e b S nlS A e e 13
,'L."L-ur 7 (1)
=kl (2)
S 3)
s @
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033209
Option 1 ID : 878270130669
Option 2 ID : 878270130670
Option 3 ID : 878270130671
Option 4 ID : 878270130672
Status : Answered
Chosen Option : 1
Q.122
. g{ﬁjﬁ"(ﬁ_ﬁ/} é’d_hiiuufﬁg;/b)‘ﬂﬁi
- b 2
BT i (A
~SLme A TR ,r:a’.:ﬁ-‘}'". (B)
- - - “&
_L,;?gf/’"‘:rxuvjéufﬁ’pﬁ (©)
2
-ﬁLﬂLﬁ’{pﬁkﬁif (D)
(C)s(D) (D
(A)s(C) (2)
(B).s(A) (3)
(B) ,4(C) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033250
Option 1 ID : 878270130833
Option 2 ID : 878270130834
Option 3 ID : 878270130835
Option 4 ID : 878270130836
Status : Answered
Chosen Option : 4
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Q.123 g U s,

et~ SWiatF (A)
SN (B)
S-S I (&)
A5 (D)
Choose the correct answer from the options given below :
(1 ACD,B,
(2> B,C, DA,

3 D,C, A, B,
4 C,D,B.A,

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033285
Option 11D : 878270130973
Option 2 ID : 878270130974
Option 3 ID : 878270130975
Option 4 ID : 878270130976
Status : Answered
Chosen Option : 2
Q.124
: gﬁ.ﬂ:&"(ﬁﬂ/} g_ﬁu»fu{!é&;/}ugﬁdi
..s‘:...“}'ug;’i/:ujl“r{rf,/”rlﬁ/;rflkgfp.@' (A)
" - -
e G Al e A5 2Ly (B)
WL WE e A AL ()
- z gf”f/.vmf“uu.u:’”;:fd/‘: Lb;f;_}w (D)
(B)siCA) (D
(D).si(C) (2)
(D).s(A) (3>
(D) .s(B) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033249
Option 11D : 878270130829
Option 2 ID : 878270130830
Option 3 ID : 878270130831
Option 4 ID : 878270130832
Status : Answered
Chosen Option : 3
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Q125 _‘ %
?WlﬂJ WTK_{:_EF&J&F”@JJLLJA&JJHF
Wi D)
S Q)
= _{FJ o (3)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033217
Option 1 ID : 878270130701
Option 2 ID : 878270130702
Option 3 ID : 878270130703
Option 4 ID : 878270130704
Status : Answered
Chosen Option : 3
Q.126
:Zf.-’.:{ﬁ.ﬁL’ﬁJ s /J(:f -;,_?kiﬁumg II-I Py g
b’xg:..LD{(E};:.{U:S::_(IJ?"__-fﬁgLng/é:uk%i st (A)
€l LI:{(K.‘Lpﬁ;:..r'T Rl /Luws‘;.i.uiuﬂf (B)
c;:.uﬁivwl?d.,:fd._b)d’;;r.___.gkfﬂfigF&C}W.:;:‘:.JJ ()
;‘:_u[vulga._:u”q_c)Jﬁ__...f_i:ﬁgj)’;g:ﬁé’:?;?c‘_;ﬁ (D)
(A)si(C) (1)
(A).s(D) (2)
(Ca(D) (3)
(B).s(A) 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033247
Option 1 ID : 878270130821
Option 2 ID : 878270130822
Option 3 ID : 878270130823
Option 4 ID : 878270130824
Status : Answered
Chosen Option : 2
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Q127 :zji’.ﬁ;u‘igfu;:kéﬂwoﬁu‘f_aéﬁgfwm_aw
List I List I
A wWF M L7
(B)  {lu it an  F g el
Q) biiper () gssfst
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Choose the correct answer from the options given below :
(D) (A)-(D), (B)-(I1D), (CH-(IV), (D)-(ID)
@ (A)XID, (B)-11D), (C)-(D, (D)A1V)
3 (A)-(ID, (B)-(ID, (C)-V), (D)-(D
(€))] (A)-(ID, (B)-(D, (C)-(1V), (D)-(I11)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033276
Option 1 ID : 878270130937
Option 2 ID : 878270130938
Option 3 ID : 878270130939
Option 4 ID : 878270130940
Status : Answered
Chosen Option : 4
Q.128 i .
-ﬁéﬁi@g{;ﬁ:kﬂlpﬂf@kﬁ%ffld
1889.1966 (D
1888-1965 (2)
1860-1970 3)
1880-1976 (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033231
Option 1 ID : 878270130757
Option 2 ID : 878270130758
Option 3 ID : 878270130759
Option 4 ID : 878270130760
Status : Answered
Chosen Option : 2
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Q.129 &
?q_ﬂ'ﬁ'u&guc){ff iﬁ_{u:"_‘&
Bl Igfy ()
P S - )
'J-i skl (3)
J: J?JJIL,]{’ 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033223
Option 11D : 878270130725
Option 2 ID : 878270130726
Option 3 ID : 878270130727
Option 4 ID : 878270130728
Status : Answered
Chosen Option : 3
Q.130
: ’cf.f.—Lji.iL‘ﬁJUJ/} g-&iﬁ:;»&,ﬁg;/}:)gﬂJi
..s;:..“.,,:rlf,u”;:fdfjﬂggﬁfjﬁ (A)
..:Edfﬂ(}/fﬁ‘u‘-’flrl“g}up:” (B)
J i @ ”
_;E.rf” B lepa B s bl ()
...:E‘_“JL?'UG*JP”;#L;/”EFJW (D)
(D) s(A) (1)
(B) »s(A) (2)
(D) (O 3)
(D) .:(B) (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033266
Option 1 ID : 878270130897
Option 2 ID : 878270130898
Option 3 ID : 878270130899
Option 4 ID : 878270130900
Status : Answered

Chosen Option :

1
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Q.131

: éﬁﬁ@JQJ;J g_hiﬁuuf;ﬂg;/}u;ﬂdi
< AMA I ST A (A)
_ﬂ;.‘;ﬁ'.-f’wrg;a’u:’;i JﬁiTﬂyﬂﬁ (B)
...ﬁ:..jd‘ J,_-(twfifd;ﬁr;ﬁ’;iﬁ (C)
"‘E"ﬁ P i [JasrLJ‘" 111 ;1,?(.‘.5& £ (D)
(D)s(A) (n
(C) (D) 2
(C)a(A) (3)
(C) .(B) (4)

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033245
Option 1 ID : 878270130813
Option 2 ID : 878270130814
Option 3 ID : 878270130815
Option 4 ID : 878270130816

Status : Answered

Chosen Option : 3
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Q.132
: ’cf.-f{ﬁ.ﬁL‘I'fJuJ/J g_hifuulp{,?gg/}ubtdj
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...Lf" L,”‘Lr.:«;rf&fl_ﬂuﬁfﬂuﬁdt‘dﬁ{ﬁkd‘fdj (A)
EIL635 B (B)
& o :
BB L B A gl (O
-t o 3 L TR 13 uh -'." H
e 2P S NE D B s AP (D)
(D) s(B) (D)
(C) s(A) (D)
(B) (A (3)
(D) s(C) (4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033252
Option 11D : 878270130841
Option 2 ID : 878270130842
Option 3 ID : 878270130843
Option 4 ID : 878270130844
Status : Answered
Chosen Option : 4
Q133 -&{&J@'J,g}'g Jutd it ne il ms i
Eub’._ﬁ (A)
Hde @
Lﬁf”ff_/_f ©
FELEAT (D)
Choose the correct answer from the options given below :
) A,B,D,C,
2) C.B,A. D,
3) C.A,D,B,
@ D, A, C, B,
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033283
Option 1 ID : 878270130965
Option 2 ID : 878270130966
Option 3 ID : 878270130967
Option 4 ID : 878270130968

Status : Answered

Chosen Option : 3

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/17025499995155...  70/84



1/5/24, 9:23 AM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/1702549...

Q.134 -
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g D
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Sk 4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033206
Option 11D : 878270130657
Option 2 ID : 878270130658
Option 3 ID : 878270130659
Option 4 ID : 878270130660
Status : Answered
Chosen Option : 3
Q.135
: é{ﬁjbﬁ(!u:/} g_hifnulb{?éjgfb,uﬂdi
-{__uffuc.gr?z:‘dq;rr‘i.jwd;r (A)
e S I e b b L Gt (B)
B b6l LA fup e 0P LG L far” (O
...f..;!f KUILE&:LSIJ.;/@UEFA..AJF, (D)
(C)s(A) (D
(B).si(A) (2)
(B)s(C)  (3)
(© (D) (4D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033243
Option 1 ID : 878270130805
Option 2 ID : 878270130806
Option 3 ID : 878270130807
Option 4 ID : 878270130808
Status : Answered

Chosen Option :

1
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Q.136
: ’cf.f.—Lji.iL‘ﬁJUJ/} g-&iﬁ:;»&,ﬁg;/}:)gﬂJi
e R (A)
e IE S EE AL (B)
e Sk (O
e S F 1 f A (D)
(Cls(B) (1)
(D).si(C) (2)
(DAY (3)
(B)si(A)  (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033265
Option 11D : 878270130893
Option 2 ID : 878270130894
Option 3 ID : 878270130895
Option 4 ID : 878270130896
Status : Answered
Chosen Option : 3
Q.137

te 2 S e e s 7
SALE (D

P I )
S (3)

LasIS @

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033224
Option 1 ID : 878270130729
Option 2 ID : 878270130730
Option 3 ID : 878270130731
Option 4 ID : 878270130732

Status : Answered

Chosen Option : 2
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Q.138
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033288
Option 1 ID : 878270130985
Option 2 ID : 878270130986
Option 3 ID : 878270130987
Option 4 ID : 878270130988
Status : Answered
Chosen Option : 1
Q.139 -
?:E.Laleu/ﬁ::;l&wh@ub/'lid’j
“L:,lhi_-/jf{})‘n__#:rjffﬂ;“
J ﬁ Jij.w: (1
s @
Fuv 3
JE @
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033215
Option 1 ID : 878270130693
Option 2 ID : 878270130694
Option 3 ID : 878270130695
Option 4 ID : 878270130696

Status : Answered

Chosen Option : 4
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Q.140 st
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Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033207
Option 1 ID : 878270130661
Option 2 ID : 878270130662
Option 3 ID : 878270130663
Option 4 ID : 878270130664

Status : Answered
Chosen Option : 4
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Comprehension:
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SubQuestion No : 141
Q141 " & &
?;E..JJL-'I.?#{?JJL“J«K’J;’“%LJ?IU@MI)
(g 2 (1)
ERE 2)
SHiee (3)
wliginctp (4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033293
Option 11D : 878270131001
Option 2 ID : 878270131002
Option 3 ID : 878270131003
Option 4 ID : 878270131004
Status : Answered
Chosen Option : 1
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Comprehension:
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SubQuestion No : 142
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Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827033295
Option 11D : 878270131009
Option 2 ID : 878270131010
Option 3 ID : 878270131011
Option 4 ID : 878270131012

Status : Answered

Chosen Option : 1
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SubQuestion No : 143
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033294
Option 11D : 878270131005
Option 2 ID : 878270131006
Option 3 ID : 878270131007
Option 4 ID : 878270131008
Status : Answered
Chosen Option : 1
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Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827033296
Option 11D : 878270131013
Option 2 ID : 878270131014
Option 3 ID : 878270131015
Option 4 ID : 878270131016
Status : Answered
Chosen Option : 4

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/17025499995155...




1/5/24, 9:23 AM cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode1//2083023314/2083023314S13D66429/1702549...

Comprehension:

:Z‘»U’-‘(j‘jugﬁ’k""éié,_—)ufdj._.«mé:;l)lr

e gz £ o o A
ng Js 2 I3 o A F ) A o
EE i w St e L ot 7 ot o
& s e 3t < g < b 2g o
il A - f 7 Ve ) wlf o7 x i 2 LY !
L s U F Sy LT S A iy . 2
i L A < ey e ﬁj’ - i 2l
o % e o duee (7 24 <
et Il ot o du v b 1 o

SubQuestion No : 145

T RSN - KLU IS 27
'gbffaiaLLaﬂ }J/,'.; ()
_Qbﬂlf.fgaﬁ/;"qé_ﬁ,f’}. )
_L?taﬁlf_f)-’r&,t'i_.dibﬁ, (3)
Lkl dnle @)

Options 1. 1
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3.3

4.4

Question Type : MCQ
Question ID : 87827033297
Option 1 ID : 878270131017
Option 2 ID : 878270131018
Option 3 ID : 878270131019
Option 4 ID : 878270131020
Status : Answered
Chosen Option : 3
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4.4

Question Type : MCQ
Question ID : 87827033299
Option 1 ID : 878270131021
Option 2 ID : 878270131022
Option 3 ID : 878270131023
Option 4 ID : 878270131024

Status : Answered

Chosen Option : 1
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Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827033300
Option 1 ID : 878270131025
Option 2 ID : 878270131026
Option 3 ID : 878270131027
Option 4 ID : 878270131028
Status : Answered
Chosen Option : 4
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Question Type : MCQ
Question ID : 87827033303
Option 1 ID : 878270131037
Option 2 ID : 878270131038
Option 3 ID : 878270131039
Option 4 ID : 878270131040
Status : Answered
Chosen Option : 3
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4.4

Question Type : MCQ
Question ID : 87827033302
Option 1 ID : 878270131033
Option 2 ID : 878270131034
Option 3 ID : 878270131035
Option 4 ID : 878270131036
Status : Answered
Chosen Option : 1
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Options 1. 1

2.2
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4.4

Question Type : MCQ
Question ID : 87827033301
Option 1 ID : 878270131029
Option 2 ID : 878270131030
Option 3 ID : 878270131031
Option 4 ID : 878270131032

Status : Answered

Chosen Option : 3
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